[ Efficiency vs vertpos |

LN LN RRE J 2R LN LA RSN LN AR

LU L L LA R

1072 10 1 10 0?
TP vertr (cr%)

—=#— DQM_CKF_TT_base

Efficienq —— pom_mkFit_TT_base

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
1Q

F—t—— .
—a——

Ratio

1.
10 20 30
TP vert z (cm)

1

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

10

T “Wﬂ _____

Ratio

T

[y

........... 4 PR I A R (R I 615 '

20 =15 =10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


